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i— ~ Consider an amplifier operating from +10-V power supplies. It is fed with a i . pot v
{  sinusoidal voltage having 1 V peak and. delivers a sinusoidal voltage output: :
of 9 V peak to a 1-kQ load. The amplifier draws a current of 9.5 mA from!
- each of its two power supplies. The input current of the amplifier is found to!
be sinusoidal with 0.1 mA peak. Find the voltage gain (in dB), the currentf (—(B))
gain (in dB), the power gain (in dB), the power drawn from the dc supplies; —
(in mW), the power dissipated in the amplifier (in mW), and the amplifier; ! ' :
efficiency (in %). E » Find the peak inverse voltage (PIV) of the following three figures with§
' respect to the voltage drop of diode, Vpy, and voltage source, vs. Assume;
* (2).Find the output of the instrumentation amplifier as shown in the all diodes are identified.
following figure. - :
(b).Design the instrumentation amplifier circuit to provide a gain that cani D, :
be varied over the range of 2 to 1000 with a 100-k Q) variable; i D =9 2| T Cucnler 7
resistance of R1, R;,. That is, you need to find the fixed resistance of ; '—_? E w5, ap REE w o
R1 R,f, and resistance of R2 with R3 =R4 = 10 kQ. - ‘ ‘: ';‘;c by~ o i
; Us R :p to voltage Lo+ = :
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iy | ,\:.Eg 35: Analyze the following circuits with feedback concept to determine the
; small-signal voltage gain V,/V,, the input resistance Rj,, and the output

2 < + resistance Roy = Rof The tran31stor has p = 100.
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P_UI A transistor amplifier is fed with a signal source having an open-circuité
' voltage v, of 10 mV and an internal resistance Ry, of 100 kQ. The voltagei R,= 10 kQ
v; at the amplifier input and the output voltage v, are measured both: 5
without and with a load resistance Ry= 10 kQ connected to the amplifier; !
output. The measured results are that v, =9 mV and v, = 90 mV without} Y
Ry, and v;= 8 mV and v, = 70 mV with R;. Find the amplifier parameters| Rin
v Avo O{L - 00): Gvo (RL - 00), Av’ Gv Ro, Routa Rm; G (RL - 0) : : b -
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